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u = Uz (x€(0,1),t€(0,00)),
uw(0,t) = u(l,t)=0 (te€(0,00),
u<$’ O) = f(.I) (IB € [07 1])
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oyabuny% ccx heatld-i.c
oyabuny, ./heatld-i

0000000 : nfunc(l..5)=1
ooooooo : 8 =0.5

ooooooo : N=40

ooooooo : A=0.5
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T=  0.0000e+00

I u(i) I u(i) I

0 0.0000e+00 1 2.5000e-02 2 5
5 1.2500e-01 6 1.5000e-01 7 1
10 2.5000e-01 11 2.7500e-01 12 3
15 3.7500e-01 16 4.0000e-01 17 4
20 5.0000e-01 21 4.7500e-01 22 4
25 3.7500e-01 26 3.5000e-01 27 3
30 2.5000e-01 31 2.2500e-01 32 2
35 1.2500e-01 36 1.0000e-01 37 7
40 0.0000e+00
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